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MARUN U

madszananaveudassdugumsnsufisanuuduyana

1. Mstdszinanave S Rast UM TiB Y YARa nwzfasLsEy
nrveuiien Tugluuudondufier I6un aums 5.1, 5.2 uae 5.3
sthyyaums#i 5.1
InV,, = 0.44281 - 0.0000214 Pcctl
(11.492) (-2.327) s R* = 0.0160

—> regress;lhs=Inv;rhs=c¢ne,pcctl;het$
i Ordinary least squares regression Weighting variable = none |
[Dep.var.=LNV  Mean= .3699983528 ,S.D.= .4709377185 |

| Model size: Observations = 400, Parameters = 2, Deg.Fr= 398 |

| Residuals: Sum of squares= 87.07375791 , Std.Dev.= 46774 |
| Fits R-squared= .016017, Adjusted R-squared = 01355 |
| Model test: F[ 1, 398] = 6.48, Prob value= 01129 |

| Diagnostic: Log-L = -262.6336, Restricted(b=0) Log-L = -265.8630 |
| LogAmemiyaPrCrt.= -1.515, Akaike Info. Crt= 1323
| Autocorrel: Durbin-Watson Statistic= 1.88162, Rho=  .05919]

[ Results Corrected for heteroskedasticity |

| Breusch - Pagan chi-squared = 1691, with 1 degrees of freedom |
|Variable | Coefficient | Standard Error | t-ratio | P{|{T|>t] | Mean of X|
Constant .4428093808 .38533164E-01 11.492 .0000

PCCT1 -.2134822537E-04 .91753953E-05 -2.327 0205 3410.6361



[ree]
P

giluvyaunmsi 5.2
InV,, = 0.45851 - 0.000030 Pcct2
(12.148) (-2.989) s R’ = 0.0251

—> regress;lhs=Inv;rhs=one,pcct2;het$
| Ordinary least squares regression Weighting variable = none |
| Dep. var. = LNV  Mean= .3699983528 ,S.D.= .4709377185 |

| Model size: Observations = 400, Parameters = 2, Deg.fr= 398 |

| Residuals: Sum of squares= 86.26871401 , Std.Dev.= 46557 |
| Fit: R-squared= .025115, Adjusted R-squared = 02267 |
{ Model test: F{ 1, 398] = 10.25, Prob value= 00147 |

| Diagnostic: Log-L = -260.7759, Restricted(b=0) Log-L = -265.8630 |
| LogAmemiyaPrCrt.= -1.524, Akaike Info. Crt.= 1314

| Autocorrel: Durbin-Watson Statistic = 1.87895, Rho=  .06053 |
| Results Corrected for heteroskedasticity ]

| Breusch - Pagan chi-squared=  .0091, with 1 degrees of freedom |

|Variable | Coefficient | Standard Error |t-ratio | P[|T[>t] | Mean of X|
Constant 4585129551 37745115E-01 12.148 0000

PCCTZ2 -.2975057047E-04 JO9529318E-05  -2.989 0030 2975.2237
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gupyanmsi 5.3
inV,, = 0.58467 - 0.000106 Pcct3
(14.987) (-7.038) s R’ = 0.1294

--> regress;lhs=Invirhs=one,pcct3;het$
| Ordinary least squares regression Weighting variable = none |
fDep.var. =LNV  Mean= .3699983528 ,S.D.= .4709377185 |

| Model size: Observations = 400, Parameters = 2, Deg.Fr= 398 |

| Residuals: Sum of squares= 77.03981294 |, Std.Dev.= 43996 |
| Fit: R-squared= .129407, Adjusted R-squared = 2722
| Model test: F[ I, 398] = 59,16, Prob value= 04000 |

| Diagnostic: Log-I. = -238.1470, Restricted(b=0) Log-L = -265.8630 |
| LogAmemiyaPrCrt.= -1.637, Akaike Info. Crt.=  1.201 |
| Autocorrel: Durbin-Watson Statistic= 1.84591, Rho= 07704 |

| Results Corrected for heteroskedasticity |

| Breusch - Pagan chi-squared = - 1.6189, with 1 degrees of freedom |
|[Variable|  Coefficient | Standard Error |t-ratio | P[|T[>t] | Mean of X|
Constant 5846717826 .39011808E-01  14.987 .0000

PCCT3 -.1055444384E-03 .14097330E-04  -7.038 .0000 2033.9625
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2. msﬂszmawmmswuﬁmmﬁ’uuun1sﬁma?;muumfmqﬂﬂa izl sfunu
P A Tuguuudeny ldun GUMITA 5.4, 5.5 1D 5.6
suluyvaumsi 5.4
Inv,, = L79917 - 0.18164 In Pcctl
(7.366) (-5.802) s R* = 0.0800

--> regress;lhs=Invirhs=one,inpcctl;het$

| Ordinary least squares regression Weighting variable =none |
|Dep. var. =LNV  Mean= .3699983528 ,S.D.= .4709377185 |
| Model size: Observations = 400, Parameters = 2, Deg.Fr= 398 |

f Residuals: Sum of squares=8§1.41211292 |, Sid.Dev.= 45228 |
| Fit: R-squared= .079997, Adjusted R-squared = 07769 |
| Model test: F[ 1, 398] = 34.61, Prob value= 00000 |

| Diagnostic: Log-L = -249.1873, Restricted(b=0) Log-L. = -265.8630 |

| LogAmemiyaPrCrt.= -1.582, Akaike Info. Crt.=  1.250|

| Autocorrel: Durbin-Watson Statistic= 1.85322, Rho=  .07339|

[ Results Corrected for heteroskedasticity |

| Breusch - Pagan chi-squared = 3.8740, with 1 degrees of freedom |

fVariable|  Coefficient | Standard Error |t-ratio | P[|T|>t] | Mean of X|
Constant 1.799166352  .24424286 7.366  .0000

LNPCCT -.1816415430 .31304679E-01 -5.802  .0000 7.8680679
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suvuaunisi 5.5
InV,, = 195662 - 0.20565 In Pcct2
(8.424) (-6.789) s R’ = 0.1091

-> regress;lhs=Inv;rhs=one,lnpcct2;het$
| Ordinary least squares regression Weighting variable = none |
| Dep. var.=LNV  Mean= .3699983528 ,S.D= .4709377185 |

{ Model size: Observations = 400, Parameters = 2, Deg.Fr= 398 |

| Residuals: Sum of squares= 78.83543588 , Std.Dev.= 44506 |

| Fit: R-squared= .109115, Adjusted R-squared = 10688 |

| Model test: F{ 1, 398] = 48.75, Preb value= 06000 |

| Diagnostic: Log-L = -242.7550, Restricted(b=0) Log-L = -265.8630 |

! LogAmemiyaPrCrt.= -1.614, Akaike Info. Crt.=  1.224|

[ Autocorrel: Durbin-Watson Statistic= 1.85129, Rho=  .07435]

| Results Corrected for heteroskedasticity |

[ Breusch - Pagan chi-squared =  2.6561, with 1 degrees of freedom |

|Variable | Coefficient | Standard Error {t-ratio |P[[T}>t] | Mean of X|
Constant 1.956620135  .23227396 8.424 0000

LNPCCT2 -.2056511093 .30291881E-01 -6.789 .0000 7.7151141
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stluyyaunsi 5.6
InV,, = 2.87043 - 0.34075 In Pcct3
(13.168) (-13.947) ‘R” = 03192

- regress;lhs=Inv;rhs=one,lnpcct3;het$
| Ordinary least squares regression Weighting variable = none |
f Dep. var. =LNV  Mean= .3699983528 ,S.D.= .4709377185 |

| Model size: Observations = 400, Parameters = 2, Deg.Fr.= 398|

| Residuals: Sum of squares= 60.24348897 , Std.Dev.= 38906 |
| Fits R-squared= .319215, Adjusted R-squared = 31750
[ Model test: F[ 1, 398] = i86.62, Prob value= 06000 |

| Diagnostic: Log-L = -188.9614, Restricted(b=0) Log-L = -265.8630 |
| LogAmemiyaPrCrt.= -1.883, Akaike Info. Crt=  .955|

| Autocorrel: Durbin-Watson Statistic= 1.77658, Rho=  .11171|
| Results Corrected for heteroskedasticity |

| Breusch - Pagan chi-squared =  3.0915, with 1 degrees of freedom |
|Variable | Coefficient | Standard Error | t-ratio | P[jT|>t] | Mean of X| .
Constant 2.870432428 17786509 16.138 .0000

LNPCCT3 -.3407522210 .24431434E-01 -13.947 .0000 7.3379832
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3. mstsznanaanuine sfuyumsie g uyananidanlsduquns
vouties nazilimedinuamnsugioesdanuis o @ Tugtiwummsdondhuiion
dun gﬂamuaumﬁr"l 5.7,5.8 U9 5.9
suyvaumsii 5.7

InV,, = 0.26631 - 0.60003 Pcctl - 0.09925 SOCI1 + 0.04770 SOC2 - 0.00061 SOC3 - 0.00309
S50C4 - 6.22930 SOC5 + 0.000002 SOC6 — 6.03427 SOC7 + 3.02928 SOC8
+0.12058 SOCO laedin1 R =0.0801
--> regress;lhs=Inv;rhs=one,pcctl,socl,soc2,s0¢3,50¢4,5005,50c6,50¢7,50c8,50¢C...
| Ordinary least squares regression Weighting variable = none |
| Dep. var. =LNV  Mean= .3699983528 ,S8.D= .4709377185 |

{ Model size: Observations = 400, Parameters = 11, Deg.Fr.= 389]

f Residuals: Sum of squares= 81.40764428 , Std.Dev.= 45746 |
| Fit: R-squared= .080048, Adjusted R-squared= - 05640 |
| Model test: F[ 10, 389] = 3.38, Probvalue= 00030

| Diagnostic: Log-L = -249.1763, Restricted(b=0) Log-L.= -265.8630|
| LogAmemiyaPrCrt= -1.537, Akaike Info. Crt.=  1.301 |

| Autocorrel: Durbin-Watson Statistic= 1.94673, Rho= 02663 |
| Results Corrected for heteroskedasticity |

| Breusch - Pagan chi-squared = 2i.8797, with 10 degrees of freedom |

{Variable | Coefficient | Standard Error {t-ratio | P{|T|>t] | Mean of X}
Constant 2663079375 19228353 1.385 .1669

PCCT1 -.3092766862E-04 .11785790E-04 -2.624 .0090 3410.6361
S0CI1 -.9924853075E-01 .48749146E-01 -2.036 0424 60000000
S0C2 .7697146667E-02  .23037350E-02 3.341 .0009 36.570000
50C3 -.6097695925E-03 .957141385t02 -.064 9492 14.495000
SOC4 -3085772307E-02 .15505012E-01 -.199 8424 4.1250000
50C5 -.2293038293 57666074E-01 -3.976 .0004 50250000

. SOCeé 2084609591E-05 .27785193E-05 750 4536 15055.335
SOC7 -.3426604841E-01 .23749593E-01 -1.443 .1499 82000000
S0C8 2928289140E-01 .51454013E-01 569 5696 68500000

S0C9 1205812953 .54459836E-01 2.214 0274 .83500000
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glluuurmmsﬁ" 5.8
InV,, = 2.7363 - 0.00004 Pcct2 - 0.10080 SOC1 + 0.00758 SOC2 - 0.00011 SOC3 -
0.00349 SOC4 - 0.22495 SOCS + 0.000001 SOC6 — 0.03382 SOC7 + 0.03145 SOCS8
+0.12146 SOCY Tagiin1 R’ = 0.0870
—> regress;lhs=Inv;rhs=one,pcct2,socl,soc2,5s0¢3,50c4,50¢5,50c6,50¢7,50c8,50cC...

{ Ordinary least squares regression Weighting variable = none |
| Dep, var,=LNV  Mean= .3699983528 ,S.D.= 4709377185 |

| Model size: Observations = 400, Parameters = 11, Deg.Fr.= 389|

| Residuals: Sum of squares= 80.79729746 |, Std.Dev.= A5575 |
| Fit: R-squared= .086945, Adjusted R-squared = 06347
| Model test: F[ 10, 389]= 3.70, Prob value= 00009 |

| Diagnostic: Log-L = -247.6712, Restricted(b=0) Log-L = -265.8630 |
i LogAmemiyaPrCrt.= -1.545, Akaike Info. Crt.=  1.293 |

| Autocorrel: Durbin-Watson Statistic = 1.94536, Rhe= 02732}
| Results Corrected for heteroskedasticity |

| Breusch - Pagan chi-squared =  20.8318, with 10 degrees of freedom |

|Variable | Coefficient | Standard Error | t-ratio | P||T}{>t] | Mean of X|
Constant 2736311210 19214168 1.424 1552

PCCT2 -.3630847205E-04 .12138622E-04 -2.991 .0030 2975.2237
SOC1 -.1007966153 485793908E-01 -2.075 .0387 .60000000
sS0C2 .7583775318E-02 .23045036E-02 3.291 .0011 36.570000
SOC3 -.1108842607E-03 95744760E-02 -.012 .9908 14.495000
S0OC4 -.3489782897E-02 15456243E-01  -226 .8215 4.1250000
SOC5 -.2249492258 .57544038E—O“I'h -3.909 .0001 50250000
SOC6 .1417709876E-05 25032191E-05 566 5715 15055.335
SOC7 -.3382262835E-01 .23516601E-01 -1.438 .1512 82000000
SOC8 .3144476841E-01 5125276701 614 5399 .68500000

SOC8 1214643877 54455075E-01 2.231 .0263 .83500000
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sUuyyaunIn 5.9
InV,, = 034541 - 0.00012 Pcct3 — 0.10377 SOCT + 0.00745 SOC2 + 0.00236 SOC3 —

0.00724 SOC4 — 0.22608 SOC5 + 0.000003 SOC6 — 0.02664 SOC7 + 0.04902 SOCS
+0.13750 SOC9 Tagiia1 R’ = 0.2048

--> regress;lhs=Invi;rhs=one,pect3,socl,soc2,s0c3,s0c4,50¢5,50¢6,50C7,50¢8,50¢C...

| Ordinary least squares regression  Weighting variable = none |
{Dep. var.=LNV  Mean= .3699983528 ,S.D.= 4709377185 |
{ Model size; Observations = 400, Parameters = 11, Deg.Fr.= 389}

| Residuals: Sum of squares= 70.37148189 , Std.Dev.= 42533 |
| Fit: R-squared= .204763, Adjusted R-squared = 18432
| Model test: F[ 10, 38%] = 10.02, Prob value= 00000 |

| Diagnostic: Log-L = -220.0401, Restricted(b=0) Log-L.= -265.8630|
! LogAmemiyaPrCrt.= -1.683, Akaike Info. Cri.=  1.155]

| Autocorrel: Durbin-Watson Statistic= 1.90306, Rho=  .04847|
| Results Corrected for heteroskedasticity [

| Breusch - Pagan chi-squared = 17.6977, with 10 degrees of freedom |

|Variable|  Coefficient | Standard Error| t-ratio | P[|T|>t] | Mean of X]
Constant .3454059924 .17919396 1.928 .0546

PCCT3 -.1208241089E-03 .16995900E-04 -7.109  .0000 2033.8625
S0C1 -, 1037682819 45275253E-01 -2.292 .0224  .60000000

SOC2 .7449389339E-02 .21463941E-02 3.471 0006 36.570000

S0OC3 .2356348116E-02 .90247459E-02 261 7942 14.495000

S0OC4 -.7235239168E-02 .14159164E-01 -.511 .6096 4.1250000

S0OC5 -.2260815331 .54595122E-01 -4.141 .0000 50250000

SOC6 .2851430409E-05 .19711078E-05 1.447 .1488 15055.335

SOC7 -.2663732354E-01 .21580435E-01 -1.234 2178 .82000000
SOC8 .4902346540E-01 A7800206E-01 1.026  .3057 .68500000

SOCH 1374960785 .52306780E-01 2.629 .0088 83500000
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4. msthszanaramuusaesiunums o ufitauvud nyanailddaunlsduguns
voufien uazdFaunlsmeadndvasnsugiosazFanmie o & lugliuuaumsden
"Wus guluuueainisd 5.10, 5.11 uaz 5.12 |
suyyaumsi 5.10

InV,, = 0.82018 - 0.23500 In Pect] - 0.11572 SOCI +0.33328 In SOC2 +0.13461 In SOC3 -
0.03074 In SOC4 - 0.19666 SOCS - 0.006291n SOC6 — 0.01098 SOC7 + 0.06518 SOCS +0.11732 S0C9 Ingidi

MR =0.1527

--> regress;ths=inv;rhs=one,lnpcct1,soc1,Insoc2,Insoc3, Insoc4,soch, Insock,soc...
| Ordinary least squares regression Weighting variable = none |

| Dep.var, = LNV Mean= .3699983528 ,S.D.= 4709377185 |

| Model size: Observations = 400, Parameters = 11, Deg.Fr= 389

| Residuals: Sum of squares= 74.98300394 , Std.Dev.= 43904 |
| Fit: R-squared= .152650, Adjusted R-squared = 13087 |
| Model test: F[ 10, 389]= 7.01, Prob value = .00000 |

| Diagnostic: Log-L = -232.7348, Restricted(b=0) Log-L = -265.8630 |
| LogAmemiyaPrCrt.= -1.619, Akaike Infa. Crt.= 1.219 |

| Autocorrel: Durbin-Watson Statistic =  1.91580, Rho = 04210 |
| Resuits Corrected for heteroskedasticity |

| Breusch - Pagan chi-squared = 23.5301, with 10 .degrees <f freedom |

[Variable | Coefficient | Standard Error | t-ratio| P[|T|>t] | Mean of X]
Constant 8201814304 40168359 2.042 0418

LNPCCT1 - 2349993740 40410195801 -5.815 .0000 7.8680679
SOC1 -.1157224607 47200843E-01 -2.452 0147 60000000
LNSOC2 .3332276036 91300468E-01 3.650 .0003 3.5291753
LNSOC3 1346137410 - .91782405E-01 1.467 1433 2.6455503
LNSOC4 -.3074376619E-01  .54561470E-01 -.563 5734 1.3226902
SOC5 -.1966554498 .58485205E-01 -3.362 .0008 50250000
LNSOC6 -B284506259E-02  .44253841E-01 -.142 8871 9.2512509
SOC7 - 1097389843E-01  .56270183E-01 -.195 8455 79500000
S0C8 6517694047E-01  .47748597E-01 1.365 A730 68250000

SOCH 1173170869 51876732E-01 2.261 0243 .83500600
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gﬂsmyﬁumsﬁ 5.11
InV,, = 098832 - 0.23699 In Pcct2 - 0.11380 SOCI + 0,31997in SOC2 + 0.13630 In
SOC3 - 0.03484In SOC4 - 0.19018 SOCS5 - 0.02252In SOC6 - 0.00853 SOC7 + 0.06797 SOCB +

0.11840 SOC9 Tawdis R* = 0.1756

--> regress;Ihs=Inv;rhs=one Inpcct2,soct,Insoc2,Insoc3,Insoc4,50¢5,InsocB,soc...
{ Ordinary least sguares regression Weighting variable = none |
{Dep.var. = LNV Mean= .3699983528 ,S.D.= 4709377185 |

I Model size: Observations = 400, Parameters = 11, Deg.Fr= 389|

t Residuals: Sum of squares= 72.94868556 |, Std.Dev.= 43305 |
| Fit: R-squared= ,175639, Adjusted R-squared = 15445 |
| Model test: F{ 10, 389] = 8.29, Prob value = .00000 |

| Diagnostic: Log-L = -227.2338, Restricted(b=0) Log-L = -265.8630 |
| L ogAmemiyaPrCrt.= -1.847, Akaike Info. Crt.= 1.191 |

| Autocorrel: Durbin-Watson Statistic = 1.91871, Rho = 04064 |
| Results Corrected for heteroskedasticity !

| Breusch - Pagan chi-squared = 22,8748, with 10 degrees of freedom |

|[Variable | Coefficient | Standard Error | t-ratio | P{|T{>t] | Mean of X]|
Constant 0883184148 39735891 2487 .0133
LNPCCT2  -.2368876041 J37077834E-01 -6.392 .0000 7.7151141

SOC1 -.1138012251 46519371E-01 -2.446 .0149  .60000000
ENSOC2 .3199670258 .91660998E-01 3.491 0005 3.5291763
LNSOC3 1363024004 91153089E-01 1.495 1356  2:6455503
LNSOC4 -.3484205278E-01 .54264479E-01 -642 5212  1.3226902
SOC5 -.1901789940 58223615E-01 -3.266 .0012  .50250000
LNSOC8 -.2251521229E-01 .41947336E-01 -.537 5917  8.2512509
SOC7 -.8525453900E-02 .55446567E-01 -154 8779 79500000
SOC8 B796766456E-01 .47157481E-01 1.441 1503  .68250000

SOCH 1184028616 .51653145E-01 2.292 .0224  .83500000
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InV,,, = 1.81006 - 0.36483 In Pcct3 — 0.09829 SOCI + 0.30217in SOC2 + 0.10059 In
SOC3 — 0.048181n SOC4 — 0.19333 SOCS5 - 0.00235In SOC6 — 0.00350 SOC7 + 0.07137 SOCS+
0.11332 SOCY lnedin R’ = 0.3865

--> regress;lhs=Inv;rhs=one,Inpcct3,soct Insoc2,Insoc3, insocd,socd,Insoct,soc...
| Ordinary  least squares regression Weighting variable = none |

| Dep. var. = LNV~ Mean= .3699983528 ,S.D.= 4709377185 |

| Model size: Observations = 400, Parameters = 11, Deg.Fr.= 389]

| Residuals: Sum of squares= 54.28874915 |, Std.Dev.= 37358 |
| Fit: R-squared= .386506, Adjusted R-squared = 37074 |
| Model test: F[ 10, 383] = 24.51, Prob value = 00000 |

| Diagnostic: Log-L. = -168.1459, Resfricted(b=0) Log-L. = -265.8630 |
i LogAmemiyaPrCrt.= -1.942, Akaike Info. Crt.= 896 |

{ Autocorrel: Durbin-Watson Statistic = 1.84284, Rho = .07858 |
I Results Corrected for heteroskedasticity |

| Breusch - Pagan chi-squared = 25.0978, with 10 degrees of freedom |

|Variable| Coefficient | Standard Error | t-ratio | P[|T|>t] | Mean of X]
Constant  1.810056375 32731891 5530  .0000

LNPCCT3  -.3648264093 26663798E-01 -13.682 .0000 7.3379832
SOC1 -.9828450008E-01 .40941519E-01 -2.401 .0168 .60000000
LNSOC2 3021652481 B81350931E-01  3.714 0002 3.5291753
LNSOC3 .1005892542 .B3005565E-01 1.212 2263 2.6455503

LNSOC4 -4818368123E-01 .46534094E-01 -1.035 3011 1.3226802
S0C5 -.1933258691 .54536441E-01  -3.545 .0004 .50250000
LNSOC6E -.2349545244E-02 .33781246E-01 -.070 9446 9.2512509
S0C7 .3497080302E-02  .46155473E-01  .076 9396 .79500000
S0C8 7136910288E-01 .41324177E-01  1.727 .0850 .68250000
S0CS 1133170202 47550206E-01  2.383 0176 .83500000
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s. aumsgilaanvesmaroufieaveslnssmswannasegie
giluyua'umsﬁ' 5.13
In V = 1.93645 — 0.35432Ia Pcct3 — 0.10831 SOC1 + 0,31111 In SOC2
~0.19662 SOC5 +0.11901 SOC9 Tawiian R =0.3754

~> regress;lhs=lnvirhs=one,Inpect3,socl Insoc2,soc5,50¢9shetd

| Ordinary least squares regression Weighting variable =none |
{Dep. var. =LNV  Mean= .3699983528 ,S.D.= .4709377185 |
| Model size: Observations = 400, Parameters = 6, Deg.Fr= 394 |

| Residuals: Sum of squares= 55.27572506 , Std.Dev.= 37456 |
| Fit: R-squared= .375353, Adjusted R-squared = 36743 |
| Model test: F[ 5, 394] = 47.35, Prob value= 00000 |

| Diagnostic: Log-L = -171.7493, Restricted(b=0) Log-L = -265.8630 |

| LogAmemiyaPrCrt.= -1.949, Akaike Info. Crt.=  .889 |

| Autocorrel: Durbin-Watson Statistic= 1.82456, Rho=  .08772 |

| Resulis Corrected for heteroskedasticity |

| Breusch - Pagan chi-squared = 22.1880, with 5 degrees of freedom |

|Variable| Coefficient | Standard Error | t-ratio | P[|T[>t] | Mean of X|
Constant 1.836445286  .27912293 6.938 .0000

LNPCCT3  -.3543218424  .24204739E-01 -14.639 .0000 7.3379832
SOC1 -.1083095252  .40959971E-01 -2.644 .0085 .60000000
LNSOC2 3111144214 .70526627E-01  4.411  .0000 3.5291753
SOCS -.1966240924  53027059E-01 -3.708 .0002 .50250000
SOCY 1190093370 46815535E-01  2.542 .0114 83500000
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